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QUESTION 1

Which two VMware vSphere components can be used to reduce downtime in the event of an ESXi host failure?
(Choose two)

A. High Availability
B. vShield Endpoint
C. vMotion

D. Fault Tolerance

Correct Answer: AC

QUESTION 2

What is the default number of logical ports for a standard switch?
A. 150

B. 120

C. 80

D. 100

Correct Answer: B

QUESTION 3
A beverage company has a critical virtual machine running on vsphere . The virtual machine runs an application that
controls the customer automatic botting line. An outage of this virtual machines stops the line and results in enormous

costs for the business. The application is extremely old and does not support application level clustering .

Which two vsphere features help reduce downtime for this critical virtual machine in case of esxi host failure? (Choose
two )

A. Vshield endpoint

B. Fault tolerance

C. High availability

D. Cross-v center vmotion

Correct Answer: BC
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QUESTION 4

What are two benefits that virtual machines provide over physical machines? (Choose two.)
A. VMs with different operating systems can run on the same physical machine.

B. VMs can be isolated from one another on the same network switch.

C. VMs can access large Storage Area Networks (SANS).

D. VMs can be isolated from one another even on the same physical machine.

Correct Answer: AD

QUESTION 5

Which feature allows an administrator to configure virtual machines to startup and shutdown with an ESXi Host?
A. Host Power Management

B. Distributed Resource Scheduler

C. Automatic Startup

D. High Availability

Correct Answer: C
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